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t.=15s,5¢=225m

a)V=6m/s,b)S=46m,
c)v=-9m/s,5=32,5m

T=20s,57=1333m

tc=1358,54% =94 m, Vpoy = 15 m/s

=2,36 m/s

max

a =1 m/s , Vi =
Suk = 25,33 m

3 m/s, Vo) = 0,

=24 m/s, Vaay = 13 m/s,
261,33 m

Vaoy
S0y = 176 m, Sa4y =

T=13s,Su =
3(5):—31’11

29 m, V(5) =—4 m/S

t=3,962s

= sint, a = —sint, v = cost,
t=m/2s

=1,414 m/s

t
v=2,5-25¢e %, a:%e 3,

t

s=25t+12,5¢ 5 —12,5

26142-0)

a=-20/3 m/s’,s=20-0,5€ ?
As=2) = 150 mm/s2
K=4,185-10"m",t=233s

k=562,5-10°
S3) = 357,2 mm,
V(3) = 39,69 mm/s

3/52,

So=0,03163 m, ay = —7,905 m/s’,
s=0,03163sin1581t,

2.42

v=0,5cos1581t,
a=-7,905sin1581t

0o =1,09974 rad, v, =
So=0,2807 m

4,409 m/s,

3 Krivocrtno gibanje Cestice

3.1

32

33

34

3.5

3.6

3.7

3.8

3.9

3.10 vy

2,83 m/s, vy =
ap) = 6 325 m/s’, ag) =

b) y=x",

¢) po=1,414m,pu=32,188m

4,008 m/s,
2,03 m/s?

a) V(())

p=45m

Vy = 1,265 m/s, vy =
p=527Tm

3,795 mJs,

Vo=21,3 m/suz a = 56,15°

t=0,2s,Xx=0,04m,y=
=0,2 m/s, vy = 0,2 m/s,
X—O,ay—lm/s

1,02 m,

Vo=2426m/s, | = 17,32 m,
t=1,428s

vy, = 0,485 m/s, vy = 1,94 my/s,
a,lv,a=0, a,=-0,221 m/s’,

a,=0,0551 m/s

Cestice treba izbaciti istodobno,
Vmin = 12,86 m/s, t=2,62 s

Xg=30m, yg =32,3415 m,
v=16,293 m/s, p =29,39 m

Vy =15 m/s, vy = 6,36 m/s,
ar=—3,829 m/s%, a, = 9,031 m/s%,

=2m/s,v,=0,a,=0,
ay=-2 m/s’, p =2 m, kruznica

Kinematika sa zbirkom zadataka



